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5.1-5.3 INEQUALITY WORD PROBLEMS
Define a variable, write an inequality, and solve.

A number increased by 4 is at least 3.
let xX=a number
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Define a variable, write an inequality, and solve.

Three times a number subtracted from 10 is at least 6

more than the number.
Let X= a number
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Define a variable, write an inequality, and solve.

Four more than 6 times a number is at most 5 times the

number decreased by 3.
Let X= oo humber

Gx+4 = 5(x—3)
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Define a variable, write an inequality, and solve.
City Bank requires a minimum balance of $1200 for free
checking. If Mr. Ray still has free checking after making
withdrawals of $2000 and $1454, how much was in his

account before the withdrawals?
Let ¥ = amount in accoont before withdrawals

X <2000 =484 = 1200
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Define a variable, write an inequality, and solve.

The sum of two consecutive odd integers is at most 123.

Find the pair with the greatest sum.

Llet X = I1st cons. odd integer
X4+2 = 2nd cons. odd in%ger

X + (Xx+2) &£ 123

£ 123
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Define a variable, write an inequality, and solve.

Jace's scores on the first four of five tests were 85, 89,

90, and 81. What score must he receive on the fifth test
to have an average of at least an 877

Let x= Fifh test
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;25 + K = Qa5
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Define a variable, write an inequality, and solve.

Mr. Samuels works for a real estate office that pays its
agents 5% of their sales. How much real estate will Mr.

Samuels have to sell to earn a minimum of $36,0007
let X= Mr. Samuels’ sales

Qé X = 36,000
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Define a variable, write an inequality, and solve.

Find all sets of three consecutive positive even integers
whose sum is less than 30.

Lelx X =Ist cons. pos. even int.[G) | 4
X+2 = 2rd B @
X+4 = 3rd 0] |

X4+ (X+2D) + ) < 30
X4+ <30
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